CRIRER 1 3EEN (BB 1 148 1 HER)
TR 2 9O FEERITRELEMDCERBETE

Y 29% b A 5.8

(3a58) HEHER

HiEE KA A
AE RF EME

?&2?5-4H/2E@$E%%orﬁ%ﬁqﬁﬁﬂﬁ%%ﬁtﬁ%
MOBREBCRIMGEERE, TR 274€ S ALEHETLEDT, HiE
FEBRTRERMGEAHEBE 1 148 1 EOETIR LY, BHREES
WX THRELET,

B & AT B B r /6. 00T =



BURRSE S B (H6AM2E, £1 1 452 HEE)

HETR EEHBEHEE - WiRE

1. L EDET
- T T 0% B (MREEACE®  (A) Lob Y20 .1
(A) X 8. 5/10 (FAKAILT O | &/ 4E7 ®
iR )iy #
BB | T w R [vorg RHEVOL |y Bt
- | THESTD W|76, 000M|X i1 = A
@ STRDH IEW|34, 000 |X |I&4|= S$/0 000 H
L e pir| KEETe W|76, 000M X i) = | Fq
"BE | R0 W|34, 000/ | X ir| = M
m@ | THED W|76, 000/ |x | 4r|= M
“BE | R0 W|34, 000M|x fT| = M
& B @ &70. 00D H
OB & O (DLODSBIRNE &0, 00D M
2. L E DEBAT IS ORFRAT '
B I I % B (MHERZESLEH) (B) M
(B) X 8/10 (HAWHVET @ M
R : i g : B
o8 | T® R | oyem| VIRV 2t
igg e | STREET W|{64, 000M|X 47| = M
-( yar | P | rRos W|25, 000 |x i | = o
igﬁﬁ g | TRST Wi 64, 000M |x | fr|= &
(| TP rron W|25, 000f|x | f|= M
= i ® M
i B & #H O @Le03LLRVE M
3. KX EBBEF
L I ¥ B (HEBZSLLE) (C) 2|
(C) X 810 (MkEIvE<T) @ F
g B 5]
z EF & OB OB ® 11, 000M{X | = M
OB & B O (QLEDILLRVE ' M
e B A& H OFe+O &/0. 00D H




